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1). Find the first 4 terms of the following sequence. (4 points)

fn) =2(x) +4

I = ald+rU = G
S = a@d+rd =3

D = 2@ +4 = 1o
J@y - auhy+4 = 12

2). Find the first 4 terms of the following sequence. (4 points)
fm) =5* -7
JO= s(Y-7 = -2

§»= s+ = |3
{@)= SGY-+ = 33
Joy= (-7 = 33

3). Find the first 4 terms of the following sequence. (4 points)

1
fm) =509 +3

SO = Shvrs = T4+ 3¢ —\2+-(—§-

D= 3@Dr3= | r3 <
3

L‘
L - 3, 5_ 2,60
= O3 S+3= S+ 1
S

f@= 7Wrs= avs-



4). Find the first 6 terms of the following sequence. (6 points)
fAH=32 fm=fn-1+6

$y-= 32

£@=32+ (- 38
F(N= 38+ = 4y
SW=4u+( = so
F= S0+ G = SG
Sl = Skt = bR

5). Find the first 6 terms of the following sequence. (6 points)
fA)=100, fM)=f(n-1)-12
(D= oo
S = lbo~12 = 338
5(33: -2 = T
W= Te-(1- Y
Sy = GU-1z= S2
$(y= S2-12=40

6). Find the first 6 terms of the following sequence. (6 points)
fW =0, f(m)=fn-1)+17

=0

D=0t =12

$= hev2 < 34

SWy= U\F=57|
&)= I+ 1% = (%
Sy= 68+t =S



Find the 20" term of the following sequences. (2 poinfs)

7). f(Q) =35 f(n)=f(n—-1)+5
§(h= 3s 6= sT+6= (o S =30 +< = §S
§G= 3T+ =4O E& = s =68 §(D: 86+ 5 = Qo
53 = @o+s = Uy Y8 = S+s =70 §D- 9o1s = A
5()= 4st¢ = so S = 90 +5 = 7§ Slu\=as+s = oo
§(s)= BotS= §§ SO = 7€ +% = 50

8. f)=2(x)+7

5(V\\: A0+ B

(i

f

\30

S(8)= tobts = 105
s twe

8Ly = OS5 =110
gUH) = Lrs= S
§ (1%) = \\S+5= 20

SUKY = Jot5=128
8(20\2 IZS—TY=BB
A6

1 BRMm

SEN a2+ T
§Gzoy= Yo+

|SGoys u+]

Find what position the given number is in each sequence. (2 points)

9. f()=27,
S(H= A7
StDH=A1+3 =73
§@ 30 ¥3> 33
SW= 33r3= 36
J(N: At 3= 39
(o= 3q+3:- Uz

10). f(m)y=2(x)+7; 77

f)=fn-1)+3; 69

(D= UTe3=H45
F(8) = 4st3=UB
F(AY » Y43 =S
§liy= Sir 3= SU
SGy = SUut3= 5+
SGD= SH¥d= o

D= ot+3-63
Sty = @13~ kb
SUS) = ot 32 (%

FIF = Axx T

-3 ~ = AT Term s FF
F0 = s

2 EY

35 = X

For 11-12, Create an equation for the following situations and solve the question (6 points).

F 1 2 3 4 5

F(n) 12 24 36 48 60

General Explicit Rule

§(nV= SO+ dln-0)
SOz, d= V2
S$y= 12 v 2 (=D

General Recursive Rule
£y Sl = Sh-D+d
F(h\=12 , d=12

SO =1z, $5M= Slna-\) + V2




Use the General Explicit Rule to find f(24) — &= |2 + 12 (n-0)
sawy = 12 ¢ 12 (24-0
SEW= 12+ a3
Fz) = \2Z + 236

SGO = AT
F 1 2 3 4 5
F(n) 7 18 29 40 51
General Recursive Rule General Explicit Rule
£, Std= Fa-O+d $0ive 510+ d (-1
go=7 , 4=\ S=%, d= 1l
Sh=%F , S Se-D + U Stz 3 + la)

Use the General Explicit Rule to find f(11)

()= F +UCa-D
SO= FH (-0
SN = 2 + W)

SO0 = F + wo

Solve the following equation for problems 13-15. (3 Points)

13). 3x + 5 = 38 14). i(x)—szzs
-5 -5 3§ +S
3x= 33 A w=30
2 3 A(EW@) =306 (D

N

15). 2x — 0.5 =25.5

+ .5 t.5
ax= 26
2N 2




